15

030 Brown UUUOOOOONO
HEN

3.1 000000000000
(Q,F,P)00000000000000000 (F)ese 000000

Fi = Fir = NusiFu
0000000000

00 3.1 000000000 (F)D000000 (Q,F, (Fi)so, P) OO
0000000 X(¢)=X(tw), t>00 (F£)-0000000000000

(i) E[|X(#)]] <oo, Vt=>0,
i) 00D t>s>00000

E[X()|F] =X(s) P-—a.s. (3.1.1)

gbooobooobod

00 0000000000000000 (i) 000 Gy ooooooo
(i) 000t>s>00000 BeF,0OOO

/ X (£, w) P(dw) / X (s,w)P(dw) (3.1.2)
B B

Brown 00O OO0OO0DOOOO
000000000000000UD (/) 0000 Brown OOOOO
oono

00 320000 (Q,F,(F)so,P) 000000000 B(t) OO (FK)-
Brown 00000000



16 O30 BrownOOOOOODDOOO

() 000 ¢t>00 B(t)O F-00 0000 (F)-0000000
(i) B(0)=0 P —a.s.

(i) 000 t>s>000000 B(t)—B(s) O /0000000 0,0
O¢t—s0 GaussOOOOOO

00 3.1 (F)-Brown 00 B(t) 0 P—qas. 00000000<s <t
000

(i) B(B(t)| F,)=B(s), 000 B(t) 0 (F£)-00000000

(i) E(B(t)2—t|F,) =B(s)2—s, 0000 B(t)2—t0 (F)-0000
0000

om_EFBW*%LE}:efﬁ*%,DDD M, = B®-% 0 (F)-0000
0ooo

0000 3.1 000000000000 00(F)-BreownO0OOOODOOO
oo0o s1000000

3.2 OOOOOOOOO

00 3.3 (O, F,P,(F) 0000(F/)-0000000 ¢ 0000000
000 n, 0=ty<t;<...<t,<ocoODDOOOODOODO &,&,...,En O
0000

() 1<j<n000000 &0 F, ,-000&0 5000

(i) @(t) = 1{0y(t)&0 + Z Lig,_r e (05

j=1

U2000000000000
OO00o00O0o0ooDonD £LyOOoOoo

00 3.4 ¢ £, 00000000000 I(®)(t) O

1@xw=§i@uﬂwwﬁ—B@A@4n t>0 (3.2.3)



3.2. 0O0O0OO0O0OO0OOOO

17

000000000000¢tAs =min{s,t} 000000(®)(t) 0 & O

Brown OOO0OODOOOOODOOO

/0 t ®(s)dB(s)

00000
00 3.2 (0000000)
(i) (F)-000)000 te0,00) 0000 [(®)(t) O F-00
(i) (0DD0) I(@)@#) 0 ¢+000000 as.
(i) (OODO)
I(a® + BU)(t) = al(®)(t) + BI(T)(t) a.s.

(iv) (00D0D0D0000)

(v) (DDO)

ooooob t>0 0000

E/ )?ds|F,] = I(® E/

0000 8.2 (FR)-Brown 000000 DO0OOOODO 82000000



